@4vi @6V @ 8Vi @10V G 1247

BO =4+2, CO=4+3, DO =8
EO =45, FO =46
s x=G0 =47
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@ 219, 2V21 @ 213,223 ® 2V11,2V17
@)2v21,2v35  ® 215,2v%6

S5 ~
i) 102 = 42 4 a%,a® = 84, a >0°0| B2

a=2v21
i) a® = 42 + 116,4% = 116, a >0°| 22

a= V116 = 229
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AC =8+2(cm) °|E2
BM = 4\/§(cm)

FM = /82 + (4V2)2 = 4V6(cm)

WA ¢ + b o] 7k 10 o]},
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@ 3cm @ 4cm ® 3V2cm

AAEH = AEBF = AFCG = AGDH ¢]|E =2
oEFGH & Azt olct,
AH = 3cm©]22 EH = 5cm
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@ 3cm @)4cm @ 5cm @ 6cm ® 7cm

PH = V52 -32 = /16 = 4(cm)




e age A 2 AL 97150 gue
whet g B 744 7be A A7 s0r <)
715l o] Y15l W] w5 ;
Zolrk o e & uf, 97152 o] ABY
Pol?

@ 21n @ 227 ® 237 ®@)24n ® 257

B ~

AB’ = /(307)% — (187)? 187~
— V90072 — 3242 AR
= V57672 B
307
= 247 N




